
Lesson 14: Pronouns (Module B) 
                    Demonstrative Pronouns 
                    Study Aid Level One: Vocabulary Accent 
 
 
Choose the correct accent for the word. 
 
1. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
2. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
3. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
4. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
5. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
 
6. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 
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7. Which form of is correctly accented? 
 

a.  c. 
b.  d. 

 
8. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
9. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
10. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
11. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
 
 
 
An answer key is provided on the next pages. 
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ANSWER KEY 
 
 
1. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
2. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
3. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
4. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
5. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
 
 
6. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 
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7. Which form of is correctly accented? 
 

a.  c. 
b.  d. 

 
8. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
9. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
10. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 

 
11. Which form of  is correctly accented? 
 

a.  c. 
b.  d. 
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